Massachusetts Bay Transportation Authority

Capital Management System

CMS-BM-003

**Comparison of Bids** 

Bid Date: 12/11/2025

Engineer: 2373

Contract R90CN06

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 6035

Firm Name: MBTA DESIGN CONSTRUCTION

Firm Name: Coastal Paving LLC

				Eng	ineer	Bio	lder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$0.00	\$0.00
0211.430	UTILITY STRUCTURE ADJUSTED	EA	20	\$892.24	\$17,844.80	\$500.00	\$10,000.00	(\$392.24)	(\$7,844.80)
0216.114	SHALLOW PATCH (LESS THAN 100 SY)	SY	600	\$356.90	\$214,140.00	\$150.00	\$90,000.00	(\$206.90)	(\$124,140.00)
0216.121	2" PAVEMENT MILLING	SY	7,070	\$14.28	\$100,959.60	\$10.00	\$70,700.00	(\$4.28)	(\$30,259.60)
0222.003	UNCLASSIFIED EXCAVATION	CY	290	\$35.69	\$10,350.10	\$55.00	\$15,950.00	\$19.31	\$5,599.90
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	1,000	\$1.00	\$1,000.00	\$2.00	\$2,000.00	\$1.00	\$1,000.00
0261.143	BITUMINOUS CONCRETE SIDEWALK (MORE THAN 20 TN)	TN	100	\$300.00	\$30,000.00	\$400.00	\$40,000.00	\$100.00	\$10,000.00
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	1,220	\$196.28	\$239,461.60	\$180.00	\$219,600.00	(\$16.28)	(\$19,861.60)
0261.200	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1,TOP COURSE	TN	1,200	\$196.28	\$235,536.00	\$180.00	\$216,000.00	(\$16.28)	(\$19,536.00)

# **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

Bid Date: 12/11/2025

Engineer: 2373

Contract R90CN06 On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 6035

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

Coastal Paving LLC Firm Name:

				Engi	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.201	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 BASE COURSE	TN	100	\$196.28	\$19,628.00	\$180.00	\$18,000.00	(\$16.28)	(\$1,628.00)
0261.260	CRACK FILLING	LF	200	\$1.00	\$200.00	\$4.00	\$800.00	\$3.00	\$600.00
0261.330	BITUMEN FOR PRIME COAT	GL	250	\$1.00	\$250.00	\$20.00	\$5,000.00	\$19.00	\$4,750.00
0261.406	CEMENT CONCRETE PAVEMENT AND BASE	CY	50	\$350.00	\$17,500.00	\$800.00	\$40,000.00	\$450.00	\$22,500.00
0263.090	GRAVEL BASE FOR BITUMINOUS CONCRETE PAVEMENT	TN	100	\$23.79	\$2,379.00	\$50.00	\$5,000.00	\$26.21	\$2,621.00
1040.670	REFLECORIZED WHITE LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$8.00	\$6,480.00	(\$3.90)	(\$3,159.00)
1040.671	REFLECTORIZED YELLOW LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$8.00	\$6,480.00	(\$3.90)	(\$3,159.00)
1040.672	REFLECTORIZED WHITE LINE (THERMOPLASTIC)	SF	850	\$29.74	\$25,279.00	\$22.00	\$18,700.00	(\$7.74)	(\$6,579.00)
1040.673	REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	SF	1,200	\$29.74	\$35,688.00	\$22.00	\$26,400.00	(\$7.74)	(\$9,288.00)

**Massachusetts Bay Transportation Authority** 

**Capital Management System** 

Comparison of Bids

Bid Date: 12/11/2025

Contract R90CN06

Engineer: 2373

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 6035

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

Firm Name: Coastal Paving LLC

				En	gineer	Bio	lder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.920	PAVEMENT MARKING REMOVAL	SF	1,000	\$10.00	\$10,000.00	\$2.00	\$2,000.00	(\$8.00)	(\$8,000.00)
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Est	imate Co	ntract Base Bi	id:	\$999,495.10		\$813,111.00		(\$186,384.10)
	Contract Total -	Base Bio	d and Alternate	es:	\$999,495.10		\$813,111.00		(\$186,384.10)

## **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

Bid Date: 12/11/2025

Engineer: 2373

Contract R90CN06

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 3670

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

				Eng	ineer	Bio	lder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$0.00	\$0.00
0211.430	UTILITY STRUCTURE ADJUSTED	EA	20	\$892.24	\$17,844.80	\$875.00	\$17,500.00	(\$17.24)	(\$344.80)
0216.114	SHALLOW PATCH (LESS THAN 100 SY)	SY	600	\$356.90	\$214,140.00	\$144.00	\$86,400.00	(\$212.90)	(\$127,740.00)
0216.121	2" PAVEMENT MILLING	SY	7,070	\$14.28	\$100,959.60	\$12.00	\$84,840.00	(\$2.28)	(\$16,119.60)
0222.003	UNCLASSIFIED EXCAVATION	CY	290	\$35.69	\$10,350.10	\$200.00	\$58,000.00	\$164.31	\$47,649.90
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	1,000	\$1.00	\$1,000.00	\$5.00	\$5,000.00	\$4.00	\$4,000.00
0261.143	BITUMINOUS CONCRETE SIDEWALK (MORE THAN 20 TN)	TN	100	\$300.00	\$30,000.00	\$460.00	\$46,000.00	\$160.00	\$16,000.00
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	1,220	\$196.28	\$239,461.60	\$160.00	\$195,200.00	(\$36.28)	(\$44,261.60)
0261.200	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1,TOP COURSE	TN	1,200	\$196.28	\$235,536.00	\$280.00	\$336,000.00	\$83.72	\$100,464.00

# **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

**Bid Date:** 12/11/2025

Engineer: 2373

CMS-BM-003

Contract R90CN06

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 3670

Firm Name: MBTA DESIGN CONSTRUCTION

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.201	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 BASE COURSE	TN	100	\$196.28	\$19,628.00	\$100.00	\$10,000.00	(\$96.28)	(\$9,628.00)
0261.260	CRACK FILLING	LF	200	\$1.00	\$200.00	\$20.00	\$4,000.00	\$19.00	\$3,800.00
0261.330	BITUMEN FOR PRIME COAT	GL	250	\$1.00	\$250.00	\$25.00	\$6,250.00	\$24.00	\$6,000.00
0261.406	CEMENT CONCRETE PAVEMENT AND BASE	CY	50	\$350.00	\$17,500.00	\$450.00	\$22,500.00	\$100.00	\$5,000.00
0263.090	GRAVEL BASE FOR BITUMINOUS CONCRETE PAVEMENT	TN	100	\$23.79	\$2,379.00	\$50.00	\$5,000.00	\$26.21	\$2,621.00
1040.670	REFLECORIZED WHITE LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$5.85	\$4,738.50	(\$6.05)	(\$4,900.50)
1040.671	REFLECTORIZED YELLOW LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$5.85	\$4,738.50	(\$6.05)	(\$4,900.50)
1040.672	REFLECTORIZED WHITE LINE (THERMOPLASTIC)	SF	850	\$29.74	\$25,279.00	\$8.85	\$7,522.50	(\$20.89)	(\$17,756.50)
1040.673	REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	SF	1,200	\$29.74	\$35,688.00	\$8.85	\$10,620.00	(\$20.89)	(\$25,068.00)

**Massachusetts Bay Transportation Authority** 

**Capital Management System** 

**Comparison of Bids** 

**Bid Date:** 12/11/2025

Contract R90CN06

Engineer: 2373

CMS-BM-003

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 3670

Firm Name: MBTA DESIGN CONSTRUCTION

				Enç	jineer	Bidder		Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.920	PAVEMENT MARKING REMOVAL	SF	1,000	\$10.00	\$10,000.00	\$2.75	\$2,750.00	(\$7.25)	(\$7,250.00)
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Est	imate Co	ontract Base Bi	id:	\$999,495.10		\$927,060.50		(\$72,434.60)
	Contract Total -	Base Bio	d and Alternate	es:	\$999,495.10		\$927,060.50		(\$72,434.60)

Engineer: 2373

### **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

Bid Date: 12/11/2025

Contract R90CN06

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 5598

Firm Name: Cassidy Corp

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

-				Eng	gineer	Bio	dder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$0.00	\$0.00
0211.430	UTILITY STRUCTURE ADJUSTED	EA	20	\$892.24	\$17,844.80	\$3,800.00	\$76,000.00	\$2,907.76	\$58,155.20
0216.114	SHALLOW PATCH (LESS THAN 100 SY)	SY	600	\$356.90	\$214,140.00	\$350.00	\$210,000.00	(\$6.90)	(\$4,140.00)
0216.121	2" PAVEMENT MILLING	SY	7,070	\$14.28	\$100,959.60	\$8.00	\$56,560.00	(\$6.28)	(\$44,399.60)
0222.003	UNCLASSIFIED EXCAVATION	CY	290	\$35.69	\$10,350.10	\$80.00	\$23,200.00	\$44.31	\$12,849.90
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	1,000	\$1.00	\$1,000.00	\$0.01	\$10.00	(\$0.99)	(\$990.00)
0261.143	BITUMINOUS CONCRETE SIDEWALK (MORE THAN 20 TN)	TN	100	\$300.00	\$30,000.00	\$200.00	\$20,000.00	(\$100.00)	(\$10,000.00)
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	1,220	\$196.28	\$239,461.60	\$185.00	\$225,700.00	(\$11.28)	(\$13,761.60)
0261.200	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1,TOP COURSE	TN	1,200	\$196.28	\$235,536.00	\$185.00	\$222,000.00	(\$11.28)	(\$13,536.00)

# **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

Bid Date: 12/11/2025

Engineer: 2373

Contract R90CN06 On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 5598

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

Firm Name: Cassidy Corp

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.201	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 BASE COURSE	TN	100	\$196.28	\$19,628.00	\$185.00	\$18,500.00	(\$11.28)	(\$1,128.00)
0261.260	CRACK FILLING	LF	200	\$1.00	\$200.00	\$0.01	\$2.00	(\$0.99)	(\$198.00)
0261.330	BITUMEN FOR PRIME COAT	GL	250	\$1.00	\$250.00	\$0.01	\$2.50	(\$0.99)	(\$247.50)
0261.406	CEMENT CONCRETE PAVEMENT AND BASE	CY	50	\$350.00	\$17,500.00	\$200.00	\$10,000.00	(\$150.00)	(\$7,500.00)
0263.090	GRAVEL BASE FOR BITUMINOUS CONCRETE PAVEMENT	TN	100	\$23.79	\$2,379.00	\$75.00	\$7,500.00	\$51.21	\$5,121.00
1040.670	REFLECORIZED WHITE LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$5.00	\$4,050.00	(\$6.90)	(\$5,589.00)
1040.671	REFLECTORIZED YELLOW LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$5.00	\$4,050.00	(\$6.90)	(\$5,589.00)
1040.672	REFLECTORIZED WHITE LINE (THERMOPLASTIC)	SF	850	\$29.74	\$25,279.00	\$25.00	\$21,250.00	(\$4.74)	(\$4,029.00)
1040.673	REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	SF	1,200	\$29.74	\$35,688.00	\$25.00	\$30,000.00	(\$4.74)	(\$5,688.00)

**Massachusetts Bay Transportation Authority** 

**Capital Management System** 

Comparison of Bids

Bid Date: 12/11/2025

Contract R90CN06

Engineer: 2373

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 5598

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

Firm Name: Cassidy Corp

		•	_	Eng	jineer	Bio	dder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.920	PAVEMENT MARKING REMOVAL	SF	1,000	\$10.00	\$10,000.00	\$0.01	\$10.00	(\$9.99)	(\$9,990.00)
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Est	mate Co	ntract Base B	id:	\$999,495.10		\$948,835.50		(\$50,659.60)
	Contract Total -	Base Bio	d and Alternate	es:	\$999,495.10		\$948,835.50		(\$50,659.60)

## **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

**Bid Date:** 12/11/2025

Engineer: 2373

Contract R90CN06

Bidder:

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

4060 On Call Asphalt Repairs 3, Systemwide, MA

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$0.00	\$0.00
0211.430	UTILITY STRUCTURE ADJUSTED	EA	20	\$892.24	\$17,844.80	\$750.00	\$15,000.00	(\$142.24)	(\$2,844.80)
0216.114	SHALLOW PATCH (LESS THAN 100 SY)	SY	600	\$356.90	\$214,140.00	\$400.00	\$240,000.00	\$43.10	\$25,860.00
0216.121	2" PAVEMENT MILLING	SY	7,070	\$14.28	\$100,959.60	\$19.00	\$134,330.00	\$4.72	\$33,370.40
0222.003	UNCLASSIFIED EXCAVATION	CY	290	\$35.69	\$10,350.10	\$263.00	\$76,270.00	\$227.31	\$65,919.90
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	1,000	\$1.00	\$1,000.00	\$15.00	\$15,000.00	\$14.00	\$14,000.00
0261.143	BITUMINOUS CONCRETE SIDEWALK (MORE THAN 20 TN)	TN	100	\$300.00	\$30,000.00	\$395.00	\$39,500.00	\$95.00	\$9,500.00
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	1,220	\$196.28	\$239,461.60	\$280.00	\$341,600.00	\$83.72	\$102,138.40
0261.200	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1,TOP COURSE	TN	1,200	\$196.28	\$235,536.00	\$280.00	\$336,000.00	\$83.72	\$100,464.00

# **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

Bid Date: 12/11/2025

4060

Engineer: 2373

Contract R90CN06

Bidder:

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

On Call Asphalt Repairs 3, Systemwide, MA

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.201	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 BASE COURSE	TN	100	\$196.28	\$19,628.00	\$295.00	\$29,500.00	\$98.72	\$9,872.00
0261.260	CRACK FILLING	LF	200	\$1.00	\$200.00	\$10.00	\$2,000.00	\$9.00	\$1,800.00
0261.330	BITUMEN FOR PRIME COAT	GL	250	\$1.00	\$250.00	\$20.00	\$5,000.00	\$19.00	\$4,750.00
0261.406	CEMENT CONCRETE PAVEMENT AND BASE	CY	50	\$350.00	\$17,500.00	\$550.00	\$27,500.00	\$200.00	\$10,000.00
0263.090	GRAVEL BASE FOR BITUMINOUS CONCRETE PAVEMENT	TN	100	\$23.79	\$2,379.00	\$95.00	\$9,500.00	\$71.21	\$7,121.00
1040.670	REFLECORIZED WHITE LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$12.00	\$9,720.00	\$0.10	\$81.00
1040.671	REFLECTORIZED YELLOW LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$12.00	\$9,720.00	\$0.10	\$81.00
1040.672	REFLECTORIZED WHITE LINE (THERMOPLASTIC)	SF	850	\$29.74	\$25,279.00	\$12.00	\$10,200.00	(\$17.74)	(\$15,079.00)
1040.673	REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	SF	1,200	\$29.74	\$35,688.00	\$12.00	\$14,400.00	(\$17.74)	(\$21,288.00)

Engineer: 2373

CMS-BM-003

Firm Name: MBTA DESIGN CONSTRUCTION

**Massachusetts Bay Transportation Authority** 

**Capital Management System** 

**Comparison of Bids** 

Bid Date: 12/11/2025

Contract R90CN06

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 4060

				Eng	gineer	Bio	dder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.920	PAVEMENT MARKING REMOVAL	SF	1,000	\$10.00	\$10,000.00	\$7.50	\$7,500.00	(\$2.50)	(\$2,500.00)
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Est	imate Co	ontract Base Bi	id:	\$999,495.10		\$1,342,741.00		\$343,245.90
	Contract Total -	Base Bio	d and Alternate	es:	\$999,495.10		\$1,342,741.00		\$343,245.90

Engineer: 2373

## **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

**Bid Date:** 12/11/2025

Contract R90CN06

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 5581

**Edward Paige Corporation** Firm Name:

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$0.00	\$0.00
0211.430	UTILITY STRUCTURE ADJUSTED	EA	20	\$892.24	\$17,844.80	\$1,200.00	\$24,000.00	\$307.76	\$6,155.20
0216.114	SHALLOW PATCH (LESS THAN 100 SY)	SY	600	\$356.90	\$214,140.00	\$250.00	\$150,000.00	(\$106.90)	(\$64,140.00)
0216.121	2" PAVEMENT MILLING	SY	7,070	\$14.28	\$100,959.60	\$38.00	\$268,660.00	\$23.72	\$167,700.40
0222.003	UNCLASSIFIED EXCAVATION	CY	290	\$35.69	\$10,350.10	\$500.00	\$145,000.00	\$464.31	\$134,649.90
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	1,000	\$1.00	\$1,000.00	\$5.00	\$5,000.00	\$4.00	\$4,000.00
0261.143	BITUMINOUS CONCRETE SIDEWALK (MORE THAN 20 TN)	TN	100	\$300.00	\$30,000.00	\$925.00	\$92,500.00	\$625.00	\$62,500.00
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	1,220	\$196.28	\$239,461.60	\$355.00	\$433,100.00	\$158.72	\$193,638.40
0261.200	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1,TOP COURSE	TN	1,200	\$196.28	\$235,536.00	\$360.00	\$432,000.00	\$163.72	\$196,464.00

# **Massachusetts Bay Transportation Authority**

### **Capital Management System**

**Comparison of Bids** 

**Bid Date:** 12/11/2025

Engineer: 2373

CMS-BM-003

Firm Name: MBTA DESIGN CONSTRUCTION

Contract R90CN06

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 5581

**Edward Paige Corporation** Firm Name:

				Eng	ineer	Bio	lder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.201	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 BASE COURSE	TN	100	\$196.28	\$19,628.00	\$350.00	\$35,000.00	\$153.72	\$15,372.00
0261.260	CRACK FILLING	LF	200	\$1.00	\$200.00	\$50.00	\$10,000.00	\$49.00	\$9,800.00
0261.330	BITUMEN FOR PRIME COAT	GL	250	\$1.00	\$250.00	\$125.00	\$31,250.00	\$124.00	\$31,000.00
0261.406	CEMENT CONCRETE PAVEMENT AND BASE	CY	50	\$350.00	\$17,500.00	\$1,900.00	\$95,000.00	\$1,550.00	\$77,500.00
0263.090	GRAVEL BASE FOR BITUMINOUS CONCRETE PAVEMENT	TN	100	\$23.79	\$2,379.00	\$107.00	\$10,700.00	\$83.21	\$8,321.00
1040.670	REFLECORIZED WHITE LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$16.00	\$12,960.00	\$4.10	\$3,321.00
1040.671	REFLECTORIZED YELLOW LINE (PAINTED)	SF	810	\$11.90	\$9,639.00	\$16.00	\$12,960.00	\$4.10	\$3,321.00
1040.672	REFLECTORIZED WHITE LINE (THERMOPLASTIC)	SF	850	\$29.74	\$25,279.00	\$16.00	\$13,600.00	(\$13.74)	(\$11,679.00)
1040.673	REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	SF	1,200	\$29.74	\$35,688.00	\$16.00	\$19,200.00	(\$13.74)	(\$16,488.00)

**Massachusetts Bay Transportation Authority** 

**Capital Management System** 

**Comparison of Bids** 

**Bid Date:** 12/11/2025

Contract R90CN06

Engineer: 2373

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 5581

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

Firm Name: Edward Paige Corporation

				En	gineer	Bio	lder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.920	PAVEMENT MARKING REMOVAL	SF	1,000	\$10.00	\$10,000.00	\$16.00	\$16,000.00	\$6.00	\$6,000.00
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Est	imate Co	ntract Base Bi	id:	\$999,495.10		\$1,826,931.00		\$827,435.90
	Contract Total -	Base Bio	d and Alternate	es:	\$999,495.10		\$1,826,931.00		\$827,435.90

Date/Time: Massachusetts Bay Transportation Authority

Report ID: CMS-BM-003 Capital Management System

Comparison of Bids Bid Date: 12/11/2025

Contract R90CN06

Engineer: 2373 On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 5581

Firm Name: MBTA DESIGN CONSTRUCTION Firm Name: Edward Paige Corporation

	Engineer	Bidder	Variance
Total Type Basic =	\$999,495.10	\$1,826,931.00	(\$827,435.90)
Contract Total - Base Bid and Alternates:	\$999,495.10	\$1,826,931.00	(\$827,435.90)

Date/Time: CMS-BM-003 **Massachusetts Bay Transportation Authority** 

**Capital Management System** 

**Comparison of Bids** 

**Bid Date:** 12/11/2025

Engineer: 2373

Report ID:

Contract R90CN06 On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 4060

Firm Name: MBTA DESIGN CONSTRUCTION

	Engineer	Bidder	Variance
Total Type Basic =	\$999,495.10	\$1,342,741.00	(\$343,245.90)
Contract Total - Base Bid and Alternates:	\$999,495.10	\$1,342,741.00	(\$343,245.90)

Date/Time:

**Massachusetts Bay Transportation Authority** 

**Capital Management System** 

**Comparison of Bids** 

Bid Date: 12/11/2025

Engineer: 2373

Report ID:

CMS-BM-003

Contract R90CN06

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 5598

Firm Name: MBTA DESIGN CONSTRUCTION

Firm Name: Cassidy Corp

_	Engineer	Bidder	Variance
Total Type Basic =	\$999,495.10	\$948,835.50	\$50,659.60
Contract Total - Base Bid and Alternates:	\$999,495.10	\$948,835.50	\$50,659.60

Date/Time:

Report ID:

**Massachusetts Bay Transportation Authority** 

**Capital Management System** 

**Comparison of Bids** 

**Bid Date:** 12/11/2025

Contract R90CN06

Engineer: 2373

Bidder: 3670

Firm Name: MBTA DESIGN CONSTRUCTION

CMS-BM-003

On Call Asphalt Repairs 3, Systemwide, MA

	Engineer	Bidder	Variance
Total Type Basic =	\$999,495.10	\$927,060.50	\$72,434.60
Contract Total - Base Bid and Alternates:	\$999,495.10	\$927,060.50	\$72,434.60

Date/Time:

CMS-BM-003

**Massachusetts Bay Transportation Authority** 

**Capital Management System** 

**Comparison of Bids** 

Bid Date: 12/11/2025

Contract R90CN06

Engineer: 2373

Report ID:

On Call Asphalt Repairs 3, Systemwide, MA

Bidder: 6035

Firm Name: MBTA DESIGN CONSTRUCTION

Coastal Paving LLC Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$999,495.10	\$813,111.00	\$186,384.10
Contract Total - Base Bid and Alternates:	\$999,495.10	 \$813,111.00	\$186,384.10